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A Note From the Author

€ >

Dear f‘»eorj s‘wéenf,

COngratUIations! fou hae just done the very best thing for your theory education — you'e bought this book.
Not only that, this edition reflects the changes in the 2018 syllabus, so it covers everjthing jou need to kno
and not‘ﬂng you don't!

There are qite @ lot og new tklngs to lear in (rade 0, but uhat Jou rea“g need {o know s that this book builds
on the knouleége Jou gained in brades 1-4. [f Jou are (J'Ump'lng in’ at Orade O level because you hae 2 Practical
exam coming up, there will be many tlwings You need o brush up on. All of this is outlined on page D, but the best
strategy s to work f‘»rouglw the workbooks Ewm previovs grac’es Lefore You start this book. Discuss this more with

JOUr teacl'ver, Of course,

Every time Jou see this icon: == i means there are extra resources available on the website.

(o to wablitzbooks.com to dounload Eree worksheets, ﬂas‘»carés. manusript and more!
Happy theory—ng,
Jamantha

[t takes more than an auther and a PUH'lsFer to proJUce a book — it takes enormous support from
Fiends and Gavly Thaek you {o exrgoe b bas hebed e on the BlBocks oy bt st of al 4
Andrew, Thomas and Courtey... withoot you three, there would simylg be no baoks.
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Things You Should Know From Grades 1-4

You'll need to do a crash course on this stuff with your teacher if you are jumping in at

Grade 5 level! (The best vy to do this, oE course, Ts to work tLroUSL Hou to Blita! ADRSM ﬂ»eoq Orades |-Y)

KEY SIGNATURES: Major and minor keys with up to five sharps or flats, and the major
and minor scales of these keys, as well as chromatic scales starting on any note.

TIME SIGNATURES: All simple and compound time signatures.

NOTE VALUES: All note and rest values from breve down to demisemiquaver, double-
dotted notes, duplets, and the correct groupings of notes and rests within time signatures.

TERMINOLOGY: Names of ornaments, technical scale degree names, e.g. supertonic.
CLEFS: Recognising notes in the ALTO clef (in addition to treble and bass).

OTHER STUFF: You'll also need to know how to go about any of the following tasks,
because these could easily crop up in your Grade 5 exam!

* Werite major, minor (both forms) or chromatic scales in any of the set keys/clefs

* Rewrite melodies in any of the set clefs either at the same pitch or up/down an octave,
sometimes converting from accidentals to key signature and vice versa

* Fix beaming and grouping in rhythmic exercises containing errors

* Rewrite melodies with notes of half or twice the value

* Convert rhythms from simple to compound and vice versa

* Write and recognise chords I, IV and V in root position in any of the set keys/clefs
* Name any interval by number and type, including diminished and augmented intervals
* Answer general questions about standard orchestral instruments

* Recognise ornaments and signs, and translate all the Italian (and French) terms you
learned in Grades 1-4! (These can be downloaded from www.blitzbooks.com)

(ot all that? Woo hoo jou)re readj to tackle Orade ! Turn the Page!



New Sharp Keys

Our new sharp keys for Grade 5 are F# major and its relative D¥ minor. These keys have
SIX sharps! Here is the key signature in the treble clef. Rewrite it in bass and alto clefs:

[Y)

You'll remember from Grade 4 that 6% minor needed a double sharp ( %) to raise the
leading note. Well, D# minor is the same:

TR S
:')’g i ﬁ% — 5 o Xo —© Look! The Tth note is alrean a
D) o o ——— [ sharp! dd a dosble sharp here

Write a Df melodic minor scale below, using semibreves. Write the key signature, and write
one octave ascending and descending. (for'll need to use single sLarP to cancel the dosble s‘\arp on the vay doun.)

" b
o H 1k
ol O - f P LY S * : " ) S—
Y Ay ” P . f N\ He YO © T W
) 10' o o [ o) H 1] %v [ o) c o
=5 © © o

Now write an F# major scale, one octave descending, using accidentals instead of a key
signature (also in semibreves). Check the clef!

W
(= P

Werite these key signatures and scale degrees (again, in semibreres). Watch out for clef changes!

@+ B + # W 4 )
P Y P VYL [A ' HTE: 4N ° i 3
Lid | ¥ Y [e»] g\ s 4T U ) D iy
"lf [ @ an ) b L) '!‘r '!‘ y A ) 1% Id p g ]

NV

e [Y)
B major A major C# minor D# minor

supertonic submediant subdominant leading note



Werite the tonic (I), subdominant (IV) and dominant (V) triads in root position in our two
new keys with six sharps in the key signature. Check the clefs, and don't forget to raise the
leading note in chord V of D# minor!

n’ 6\° —H" ‘Hﬁu b
SN o) S =7 %1?—6" X2
it S &2 = w2
T Iv v ?— v %
F# major D# minor
Here is a melody with lots of sharps.
Beethoven

jE:
—_—
T
S8
Q]
Es
| | e
b
|
1o
A )
| e
3{

What key is it in? (Hint: bar | centres around the tonic, and the meIOJJ contains £ sLarPs.) F # MQ»IJ or

Rewrite the melody here, using a key signature instead of accidentals:

1L
e}

4 i :
G, P | : =

L\,

e
L

|

Name this scale:

f v =
o)

P4 © ]

— s , G*

For your final trick using sharps, write a one-octave ascending chromatic scale beginning on
F&. Use semibreves, and write the scale in any clef you like!

&

=

.
4
7




New Flat Keys
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Our new flat keys for Grade 5 are G major and EP minor. These keys have SIX flats! Here
is the key signature in the bass clef. Rewrite it in alto and treble clefs:

= e

()

VU

%ﬁb:
1
V 1 bh
I’

]
)
1
R
74

b

 an

Write an E? melodic minor scale here, using semibreves. Write the key signature, and write
one octave ascending and descending. Check the clef!

T

< T

<
<P

o
0
P s
0]
Rw gy
0
0
<
*
BT

0
Q

0
0

0
0

Now write a G major scale, one octave descending using accidentals (also in semibreves).
Check the clef!

L~ ol
Q

N
0
INm
0
BT
0
o
0
BT

0

<
0
T

0

Name these key signatures. The note in each bar is the mediant of that key.

() - — ra Y ’% () waow o
B |12/ — 75" P (@) s W/ e ca— T
(D ] v = vV 1D SV ©Jy L = v
o [Y)
Gb erjUr C_minor F majc'r Ab MJ\W (& minor
Write these key signatures and scale degrees. Watch out for clef changes!
f /BN O b ;
- O D r=Y T b (3 W) 1
75v o ol b5+ i? p b o
NV b 74 4 ¥ "4 [ @] Y ¥V M |
[Y) [Y) i
Bb major Eb minor B> minor C minor
supertonic leading note dominant leading note



Werite the tonic (I), subdominant (IV) and dominant (V) triads in root position in our two

new keys with six flats in the key signature. Once again, check the clef and be careful with
the leading note!

| §
| "X N 1
| 74

= W) YR R R— () =4
2 7 e o 8 e A 2 8 =
V1 (@] L4 v B =
(= v
I Iy "4 I v v
Eb minor G major
Here is a melody which features a bunch of flats:
Chopin

\

~. T~ T~ b/:b’j\
- - et

TN

Do |

o
/- I I
L 3 I —

I
I
|
|

3

| | | |
1 | | I I |
t

What key is it in? (int: make a list of all the [lats, in key signature order, It's a minor key.) B> MANOY

Rewrite the melody here, with a key signature instead of accidentals (don't Eorget, You may need to

nclude accidentals EOr a raised [th Jegree):

X e
I ~ /__—-——-\ /——————\_ -F-:&:&hr.‘-
e P rPrrFe _+ o fe, = .
YV L SSEEESSIE=SSSE

U N ¥ )

Now write it AGAIN, in the alto clef (with the key signature), sounding one octave lower.

. —7 e

| b |
1

3 mmo

4:51

[_

DID YOU KNOW... our new keys with six sharps/flats are enharmonic
equivalents of each other. Go and play all the scales you wrote on page 8
followed by the scales you wrote on page 6. They sound exactly the same!
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Tenor Clef
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In Grade 4, you learned about the alto clef, which looks like this: IB It is also known as a
C clef, because it indicates where middle C lies in the stave.

v

In alto clef, middle C is on the third line: 3

Now we're going to learn about another C clef! It is called a tenor clef. It looks just like an
alto clef, but it is raised up by one line. It's kind of like an alto clef filled with helium!

o ¥ 3 |
The tenor clef shows middle C on the fourth line: 1 #G_ Wou! Tt MIDDIE (1 o 3 e CIEE ¥
SUPPOSEJ fo stick op aboie the stae a bit

) S
. i i : I
So s—e— sounds exactly the same as this E and this E .
e = R

Draw a whole load of tenor clefs here. Make sure they're all centred on the fourth line:

~

g!

19

y
5
T5)

1

) [ i ~

i

Tt

PP J o7 (W)

The tenor clef is mostly used by cello, bassoon, and tenor trombone (more about these
instruments on pages 47-51) because of the range they often play in. Here is "Twinkle,
Twinkle, Little Star’ written in A major, at the same pitch in four different clefs. (Check
out the look of the key signatures!) You can see that alto and tenor clefs are easier to read
because there are no leger lines. Can you finish off the tune in the other three clefs?

4 4
o &7 | I
(e T ! | ! % ] { i i I 1
SV P | [ r = | | | | [ I
— g ® & [ @ —
o = = - vy ¥
nﬁﬁ I T P Pf }
L7 =3 D D
B L2 T — E— E— — ] T -  e— — » ®
ey - o I 1§ | | | i 1 ]
‘ i i | I
I —— _—
o t———— e i
o T | | ! ! T [ ! 1 ] 1 ]
| | ¥ il . ] i
- 2 0 o
v o = T IE £ P f £ e p o0
L3, S0 ¢ T | e 1 [ i N
hdl N - 3740001 | 1 | ] 1 1 1
4 '% ! | hd b 1) ] [ ]




Key signatures look rather different in tenor clef, especially sharp keys:

Check this out! The s‘\arps g0 in

the opposite 7ig 7ag dirrection!

—

Werite these key signatures in tenor clef:

)

)

b

‘\ILI

T

]
h
¥

(D ]

ar 7L

ey

o

o

e

k L]

F# major

Ab major

G# minor

Eb minor

Rewrite the following notes in tenor clef, keeping the pitch the same. All you need to do is

keep the position of middle C (shown in grey) in your head at all times.

o fo
) 2 B ) Ir)() o) :
7 (D J (@) 7 " 7
1] @)

4 v 4 — > S Q v 4 [V
Y 4 j; 2 Y W o 7\ a Wl A4
[ fan [ fanY 1% A4 [ fan

SEs Cpar— | S

X
:

Rewrite these short Mozart melodies:

1. In tenor clef, keeping the pitch the same.

y

~

l"llL

=

Remember to write the key signature.

o

e

2. Intreble clef, sounding one octave higher. First, work out the starting note at the same
pitch, then put it up an octave!

?

) = aad

)

I

[V
Db
|

I

| _-‘lt

\—

BT

L

T

G

11



Irregular Time Signatures
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In Grade 5 we study four irregular time signatures: 2 8 , Z and 3 They are irregular

because the top number cannot be divided evenly by two or three. This means you'll see a
mixture of groups of twos and threes in the same bar!

2JJJddid d

1JJdd0001d dJ

8IS AT . 37771001

QUINTUPLE TIME
SEPTUPLE TIME

(The table above shous Jost @ Eeu °)f the man| POss'l“e combinations Tn these time signattn%!)

Werite the correct time signatures for these one-bar rhythms (and §es, t‘»ejre all irregular):

f wad -
: . g
—3—

e 4 =y

i N 7 1 <
44— : ya & -

7 i o (@ ]
3
 ~
e ) ; ‘/4 J 'I—l

Insert the correct time signature AND the missing rests at the places marked *:
Bennett

|
|
1
|
|

—

[
o =
@

g
ik

#rt

o

ﬁ
B/

11Q

—_—
el

A 4
. 2 . ol® ]
"+ !
7 7 "?I—

Y
L/ 7 7 L7 Z V 4
== .

e

e
e
e
N\
N
\S-\
=
L)
TTe

* g

<A

Ne

| 4

*

A
@ REMEMBER: these new time signatures are in addition to all the time signatvres Jou learned in Orades 1-Y!
12



The following extracts change time signatures at each place marked with an asterisk.
Insert the correct time signature, choosing from the list below:

7 7 53 53 3 - 7 3 4
4 8 8 4 8 4 64 2 4
Bartok
* * * *
H e _— A NN
’{ 3 - 3 - f il [ Il o 3 N 1 1] f <alll] Iy 1] X
[ (e W1 re1id o) :ﬂi:ﬁ:::glb%F*1t?lbp7‘7ﬂ!]*’7“‘
SV O (o) [, [+]
D)) -  —
S P _—
—. — s - A
gt e nugs g tat weue ]
7 Q I | | Q| i | | 1 g " ) Y | [ 7 T 7 Il\ 7 7 I/\
[o ] | (o] ! ! [« Y "4 % he o | 4 | 4
Bartok
* * *

)
|
|
%

Mussorgsky
* 5
E_4 b .
. -5 3 \ he
b RN A} |2 N IhY L P ]
) ¢ > | e v Y ] L]’y @ Y & =
0. & 7 ¥ 7 & L7 Py T VA
- Y . € 3 €
&
p Mf=F= rp
P A A
5 Ne—tr—<—/ Y i < ¥ P
} uq"g ;b/ r S——

Bartdk
lﬁu.‘rfa .1 i | | | T& P ' - I | | ]
F\ L D ¥ g b o L | |
[ o Y LY ) 14 = = Il
bl’ & Py o =) [l 8 o' | e i | | hord =i 1

w T T » S

DID YOU INOW... time signatores uith a 0 on top are called (Q’U'lntUP'e‘ time, and time
signatures uith a T on top are called ‘seytuPle) time! Cool, huh?

13



14

More Irregular Things

In Grades 3 and 4 you learned about triplets (three notes played in the time of two) and

duplets (two notes played in the time of three). Well, there are even more unusual ways to

group notes within a beat!

A group of five, six or seven notes, with that number written across the beam, is equal to
FOUR notes of that value. Check these out:

5

Quintuplet: ddoode o 0 0 o ) J
6

Sextuplet: dooeee o o ‘ﬁ = J
7

Septuplet: 0oddddde - o 0 0 o - J

A run of nine notes is equal fo EIGHT of the same value. So:

9

= =
Ja’ooaoo ) 0 ddodoo e - o o 0 o -

HERE'S A THOUGHT: The quintuplets, sextuplets and septuplets abore are witten as semiguaers, and are
vy P Pk ¢
equal to one crotchet beat, Dot f they uere grouped with one beam only, 1., 3 quavers, each group would

be e(Lual to fow quavers... ubich s a minim beat!

Insert the correct time signature for these one-bar rhythms:

5 B 9
7—==ﬂ
[ 1 I 1 ik Il L2
4 —i -4
7 6
2 - 3
b::’mj;'




Not Your Regular Quiz
€

>
1. Check out this piece by Chopin and answer the questions below.
Sostenuto m

N | - T
iy ae—a —cz = = —_—
Di i d = . = -

g

] V- T w1 2 40 4 . 3 - S o4& - y ol Y &8 vy

Y b4 i i i e = i e e e &
V4 ll'} IDVi-"- r | Il | [ —_l. 1 | L 1 1] | 1 I L

Bed | Bed 1Bed. | Red_ 1Fed_ 1 Teod | D IR 1Red |

a) Write the correct number above the irregular group of semiquavers.

b) How many quaver beats would that group be worth? 2

c) What is the key of the piece? Db maso'r (Hint: the rig‘»t—‘\ané part Legins on the mediant)

d) What does 'sostenuto’ mean? SMSWMA

2. a) Insert the correct time signature I ;
for this extract by Barték: v
_ A
b) Name the accents: marcako— = e e e e f i”
Sbror\j accents

3. Add the time signature for this piece, also by Bartdk (iho vas c]earlg very EOnJ OE irregu]ar tluings):

0 o . . AN
e f f prmmpn 1] ) pummp— I
va—a | o Jiete @ (10 Jhess |, Sfeie e
4 D ~_ | o
'ﬁ.['- _ - ‘ /—\
¢) ~— - - = [&ﬂf;&%ﬁ%ﬁ&ﬂr:&
Y ) — F—— — —r ] N S E— ——

9

I
4. How many minims is J i o 5 3 5 5 i i worth? _ 2 (Hint: the ansuer isafracthn)

15



Compound Intervals
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IMPORTANT: Before you go on, make sure you have revised all your Grade 4 interval skills!

Any interval that spans more than one octave is called a compound interval. It has the same
number and type as if it were one octave smaller, so:

If % is a major 2nd, then fgg———— is simply a compound major 2nd!
Q) o«

To name any compound interval, simply move the top note down an octave or the bottom

note up an octave, then work out the number and type.

Name these intervals, remembering to put the word ‘compound’ before each:

3o iQ : = i% I
) ul A 91@ )
7 I (es 7 {es
L@ ) ANSV4 S ANIY
Y] ~ O o) -
com,POu.r\& compow\d COMPODJ\.A' COMPOMA-

CA’ -2'\—0l aLujmu\kcd L"u'\ MﬁMLD\kCA LI'H\ MmAanOr 3rd.

The other way to name an interval spanning more than an octave is to keep counting the
distance between the notes, i.e. instead of ‘compound major 2nd’ you'd get 'major 9th'. This
can really start to add up though, like in this Beethoven melody:

Whoa! Thi

e 0N

o o » % ;3\ T — A ket
,Q b = = Iﬁ:ﬁ' E E { = :_1';:: - ‘.A.,@!'__{ z . t'\':one?
Dl ' | < ] | =3 Eer&ct 19th
; " 0 «‘ . HOT TIP: No matter ubich naring system Jou c‘noose, s ALWAYS easiest to f‘lrsi reurite the

{

m intenval so that both notes are yithin an octave, ‘Jefwe Jou try to E'lgure out, the number and tjpe.

Complete the table on the next page (uhich uses a technique we learned in Grade ) for great practice in

naming compound intervals!
16



Dra it within

« ) Nal"le t'\e ) .

Dresseé comPOUnJ an octave anJ ( ) Descrl‘;e ‘»Ou ﬂ\e acclJenfals Nou pame ﬂve
. l . . nalﬂeé . l w I A [
interva uithout accidentals | . afect the intenia origina intenal!

X )y, intenal
( Un(}ress lt)
top note is one semitone
o) ﬂle )—Go— . higher, bottom note is one compound
7 - V4 minor 2nd semitone lower, therefore the | augmented 2nd
p-©- interval is two semitones larger
o bottom. note (s one
b % mkjmkd semcbong M ku/Wroforc compound
% S Lth | du inberval is ont perfect bbh
semctone smaller
bo top nobe s one éﬁ:uc{row ol
o): — Sth | Lower, therefore Compeo
7 O z o f"{'ut \‘,Nt{."'va}/ :foou semibont WSM
smaller Sth
ho ] -tof; note and bottom
'i\ﬁ gﬁ:: minor Tth | note are one semitont compow\d
A — = Lower; therefore e manor Tth
intecval s Same
top note (S two semitones
e G ecfect Sth '“;'w bettom nabe is one | compound
7 = 7 (@) P sematone e l\.c(l 'UMJ‘cfol‘ 12 uwjmcd
Fo 2 the (nterval cs one semitont Sth
Lkrdcf

Don't forget: if you need to identify intervals from a piece with a key signature, you'll need

XO

to rewrite the interval with accidentals first. For example, simply convert %

XO

b L Y

1

into : , then work out the name of the interval using the process above!
9 P

Describe fully the intervals (by humber and type) marked with brackets in this melody:

> :/\ Liszt
il 3 e
Vi ' J ' | L. '_
[ [} & ) \
m 7 i 7 [ e - )
[Y) — l v N——"
| I—
minor 3rd minor 3rd Per,feit Sth




Intervals and Things

€

>

Name the intervals marked A, B and C with brackets. Remember, it's easiest to rewrite
compound intervals within an octave, and with accidentals instead of a key signature, to
work out the number and type. If you need spare manuscript go to www.blitzbooks.com.

Brahms
Dy, Ftem, £ Ehen oo P
4 ' e ¥ —r— ——*1 f < 7
© 4 ¢ e ¢ Tt
.) | l—l [ ] |
A B
Interval A a,u,qrv\U\i’w( ‘-l‘erInTervaI B munol 36 A Interval C ’per ‘Cetk S(zk
Chopin
< 2 7 e 3 ow — < 2 o~ 2
AL R, Err e e 2fr |
\;)y NF ] 51? 1 Lu 1 dﬁ.l < NP : ] [? fl
3 3 = L 3 3 ., 3
A B C
corv\fouu\ok compound Compound
Interval A _minor 3cd Interval B 'oe,rfg,d: Wh Interval C mago( 3cd
Mozart
A B C , R
I | ] 1 | p— |
Jl) o' N 7 — NI 71 K [—— I -._-'_f_ f_ [’— #ﬁ1£ :E hﬁ#:ﬁ#ﬁ#}tﬁ#
Vo < T K17 T NI T HJIL.] i —| t___H #:ﬁ:
- 7T ee=s gl
comge compound compound
Interval A _dimwnished SdhInterval B diminished Gth Interval C m.‘mz(r 3rd
A B i Schubert
— . £
) = = £+ s — | F b‘la
&€ i - ' = T be+ — | | '
[} = ﬁal I : i \\%/i = [,-dl-

compound
Interval A _MMM

18

c

CQMDI&I\A—
Interval B diminished Teh Interval € 'ocn_ccot Sve



On this page you have to name the intervals AND insert the missing time signature for each
example! There are also some Bonus Things To Do (aEter all, this tsn't called Intenals and Hﬁngs Ew nO%'ﬁng).

Saint-Saéns

(o O\A.V\A c,omfouuui- com, ow\A
Interval A lot(‘ & 8ve  Interval B_muonor Gih Interval C ‘-H:k

Bonus Thing To Do: Add the missing triplet signs in bar 2.

A Rimsky-Korsakov
—
> 2eoes EE E:: = e

gy F Cefrerers. o2Efpe ¢ s s
y 4T | Y — I ﬁ t
[ fan) yn » ! o | | I
AW L. d 3 24 24 2 24 1 Al ‘ 9
LY = 3 g —

'—'B C

com, OLAJ\A

Interval A _punor 3rd Interval B ?cr‘ & Sth Interval C rvwku}or 244

Bonus Thing To Do: True or False: The first tied note is equal to a dotted crotchet. True

B Fauré
o —
o l/-'.?ﬁ? hf ;\) - "_FEIP—./'}‘ K —— ——
3 e e e e
'T' ’”@ki‘——q./ espress‘\/

COM.PO\(J\A .
Interval A _manofr bdr\, Interval B _nsuneoc Q@» Interval C m,ador 3rot

Bonus Things To Do:  Is the time signature simple or compound? g;omgowui

Is it duple, triple or quadruple? OLm'plL
What does ‘espress." mean? &SPF essSvo - FLaj Cx‘a(‘eSSL\fdj
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Let's Test Your Skills So Far

Here are two pieces of music and a whole load of questions to answer on each. You'll need

to use all of the skills you've learned so far in this book (plus ALL the skills you learned in

Grades 1-4, of coursel).

Mussorgsky
* * * N
O P, 3 i 3 o |
P’ ATV E ~d | I = = Py = Py =3 — | | [ = | [ I =
éi E z: P P | e : = Py I. ‘I | P ) | |
) — @ i — f e ] Il r I et _J— r
S
b5 - G - 5—4 ’{ 4—41 |
75 71 | I | o
LA - P | #
e N\
e I T - R B T

Ay | e —® T =
&’ oo | o & [
SV ¥
v r - R T e
|

N

V]

S

—
u
mﬁt
|-,

;n

1

L any

oy

CHAT YR
—H
uﬁ:

Name the two possible keys of the extract above: Bb rMb{OT and _Gr minor
Insert time signatures at the places marked *

Rewrite the first two bars an octave lower, using the tenor clef. Remember to include
the key signature.

e s en s [
— i ' |l — F e
A | I | 1 [P | A I
s 4 ey 1 | Pl 1 L I 1 ] e
M =) 1 - > 3 o

F

Write as a breve the enharmonic equivalent of the third note in bar 1. %

()

True or false: the left-hand part consists entirely of octaves. False

Name and explain the signs on the notes in bars 1 and 2: Teruto-hold note for its full
value /play with sudf»t pressure

(not Jif)[icu]t, 'l)f gou)re obsenvant)

Fully describe the interval marked with the letter Y in bar 4: ‘DQIFCCC J‘Sd\

Who wrote this music? Mussorgskj




Chopin

O e i | o @ PEoerF  ——
(N D }l',i Zi | | | L & Il | | | it
[ ol | Il I ; | I I |
[ .
cantabile ——— P ——
& e £ e~ g | T e, &
e |1 C | Py
YD Hh T =
LB - . . .
r r L ==
L L C
A B

* The key of this piece is Bb minor. Write one octave ascending of that scale here, using
semibreves. Use accidentals instead of a key signature.

0
E,_.),_
T

BT

o
[ NI A4

[l
e
|44 ¥

"jli;c--eiw)

* What is the relative major key of the scale you just wrote? Dl’ mobwr

. . . |
* Write as a breve the enharmonic equivalent of the note marked *. L2 b

) oJ K
* Insert the correct time signature (hint: it's compounJ time) L Watch out! Keg

. signafure Lere!
* Name the ornament in bar 3: _acciaccatura

* Ignoring that ornament, rewrite bars 2 and 3 of the treble melody, using notes of HALF
the value. Write the key signature, the new time signature, and make sure you group the
notes correctly.

b mm

1
|
=

-Pb-

* What does 'cantabile’ mean? U~ a Sutjlutj Sije

* Fully describe the intervals marked with brackets under the bass stave. (Be careEu” ﬂsey are

VERY triclxj, because OE the Lej s'lgnanre! You ma| uant to reurite them with accidentals, on spare manscript.)

. compound |
Interval A _mMuA\OrC 3“& Interval B mz;for 3rd Interval C _muno( G‘H!L
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Transposing Instruments

€ -

Most instruments of the orchestra are non-transposing, which means they sound at concert
pitch. For example, when flutes play a C, it actually comes out sounding like a C. This means:

_hH f— o) —
Flute music that looks like this @y T—® 3P sounds like this Gy = * o
.) | T ‘_ | | _‘.

You may be thinking, ‘that's SO obvious, why are we even discussing this?'| Well, it's because
not all instruments behave like that! Some instruments are transposing instruments.

INSTRUMENTS IN B FLAT (e.g. clarinet in D {lat, trumpet

When these guys play a C, they get the sound of... B flat! This is why they are called
'instruments in B flat' (and it’s dve to the convoluted evolution oE these instruments, uhich e von't g0 into risl\t nou). S0

) ~ 0 ~
Trumpet music that looks like this fy—®—@—J#—— sounds like this f>— e
o ! [ D) 1 =

* Instruments in B flat sound a major 2nd ( 2 semitones) lower than written. *

INSTRUMENTS IN A (e.. clarinet in A\, cornet in )

When these guys play a C, the get the sound of... Al So, for instruments in A:

0 P~
Music that looks like this f——2 g ®— sounds like this g@&ﬁ
e e

o

* Instruments in A sound a minor 3rd ( §_ semitones) lower than written. *

And finally...

INSTRUMENTS IN F (e horn, cor anglats)

When these guys play a C, they get the sound of... you guessed it... an F! So:

) o 0
Horn music that looks like this fy——@—#— sounds like this Fb—J—TT1——
) I ! < & ::_
<

* Instruments in F sound a perfect 5th ( ya semitones) lower than written. *
22



The way music is written for transposing instruments is called written pitch. The way it
sounds is called concert pitch. Can you fill in the rest of the concert pitch notes?

Written pitch Will actually Concert pitch
(i.e. what they play) sound (i.e. what we hear)
Instruments #r Down a s —
€ @ —®
in B flat =T [ major 2nd | —g¥ o= 1
T

Instruments 7\9;1 1 Down a - HJ—

in A ®v = minor 3rd | —eJ 5 ©
Instruments %—1—;—1‘3— Down a .

. |

inF = perfect 5th| =F—2— *## 3

HOT TIP: When transpwing )crom concert P'ltc'w to written Pitc'», all the notes will

W 90 UP a maJ'or an /m]no, 3“} /Perged 5{“

Some instruments are called transposing instruments but do not actually change key. They
simply sound an octave higher/lower than written. For example:

Piccolos sound an octave higher than written. (Can you fill in the sounding pitch?)

2
Their music looks like # [ but sounds like % 'F -_;_-:E :F'
1 £ 3
) 3 \S)

50Me seriovs leser
. [ines neeJeJ here
Double basses sound an octave lower than written.

Their music looks like Q——J\ but sounds like 4} =

4 V4

Did you know, there are quite a few more transposing ms’rr'umen’rs than are listed here? Can

you research and list three? Alto Sa.roFkoM Tmmpe’c n B and _Alte %C(Mto inG
wnE 23
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More about Transposing

-«

When transposing from written pitch to concert pitch and vice versa, the rhythm and shape
of the transposed melody must be the same as the original. However, lots of the time the
accidentals will CHANGE! (Jeeeery tricky)

For example, here is a melody in C major. In bar 2, you'll see it has a sharp which is straight
away cancelled by a natural:

#-_ ° bo-f) o —— o

| £an W% >

AN\,
[ |

If we wanted a clarinet in B flat to make the sound of the melody above, we have to
transpose it up a major 2nd, to D major. You'll notice that the accidentals remain the same
()fl” in the missing notes, ubich should all be tuo seritones "vig‘\er than the 0r13'lnal)3

#QH-J%*'

|
| a0 WL ') i |
< }

A\374
[ S

3=

o

0

“TTe

But what if the C major melody WAS the written pitch? To get concert pitch, we would
have to transpose it down a tone, to B flat major (fi“ in the missing notes, all a {one lower). As you can
see, in this version the accidentals CHANGE:

The most important t‘flng to remember s that accidentals do aJO‘J:
A sharp sign (#) always raises a note by one semitone
A flat sign (I;) always lowers a note by one semitone

A natural sign () could be raising or lowering a note - it depends on the key

signature - or it could be cancelling out a sharp or a flat!




Adjusting Accidentals

>

Each of the following melodies has been ftransposed for you (Looragf) except for the
accidentals (boo). Work out what 'job' each accidental is doing: write 'R’ for raised and 'L’ for
lowered on each one. Then add the correct accidentals to the transposed melodies!

Aty
| | il >
Yy, s
— .;= ! ip ming I
- i I z y J >
_;L e IO v OO oy doun a fone
'\my i ' il:}-={ .| E :\ —»
[Y) - &
| ) C)OW\ a
#Bgfiﬁpﬂ g 1'_.} & perfect Oth
S e e NG

R L.R
fo T rhe e,
/ — L |
;)J/ = | = = {
3&%—_ 1
? — - fo =
SV - b |
.) |
Ga(egu” '.ooL at
{he key aignatwe.(
_9 | e S e P N
1 7 ] I | |
o ok
5 —— ——
e i
%:Ht__‘iﬁ?: ﬁ S

Transpose these yourself! First, label the accidentals, then write the new notes, then

adjust the accidentals where necessary.

Joun a
— | —
@ T i mvinor Jrd m’j x
S RS > FE
ﬁ ﬂ U? a _’_ X ‘
Mﬁ:{i & 1 I ) ﬁgﬁ:ﬁg—‘ = [ .
- .' ® Pergect 5“\ [ & an Y LR ﬁ Q q
@—H"B——bijﬁ.‘j b4 Mm Y 1
[Y) i —_— e ! |

% s
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Transposing Tricks

€ >

Here is a cool trick to help you find the new notes in your transposed melody. You can write
a table that shows you how each note changes. For example, if your original melody has two
sharps in the key signature, write the letter names of the MAJOR scale with two sharps:

Original key: D major D E Ft 6 A B ¢t D

Let's say you have to transpose it up a minor 3rd. Find the MAJOR scale of the note a
minor 3rd (three semitones) higher: F major! Write these letter names directly below the
D major letter names.

Original key: D major D E Ft¢ 6 A B ct D
Upminor3rd:Fmajor [F 6 A B ¢ D E F

Now you can see that D will become F; E will become G; F# will become A (not A#!), etc.

Let's test this out with a melody in D major, so that we can use the table above. First, label
all the accidentals with 'R or 'L, just like we did on the previous page:

L B R R L L
@?'—E}ﬁ' ! ] —

= T iee—— ~
LY ' Jb—d' -

Now transpose the melody up a minor 3rd (to be written for, say, cornet in A). Write the
new key signature, and move all the notes. Remember to use the table above to help! (Remenber
that Jou won't acfua“j need {o urite 2 Elat sign next to the bs in Jour fransposeJ meloéj. because Jovl” hae a Lej aignatwe.)

L, R
). o rhebe o E KL : =
22 = SR R =& =
Q) [ ] e l/" ) L 1

Now copy 'R"and 'L in all the same spots, and adjust all the accidentals according to those
labels. (De carefuf uhen ralsing the Ds - cyocf” need 2 natural!) Yay, your melody is transposed!

HOT TIP: Ifjou)re franspwing Using Lej signatures, Yo can actua“j urite Jour transposing table withoot any

M s"arys/ﬂats against the letter names. You'll still need to label and aJJUS{ all the accidentals!




You can use transposing tables in any situation. If the given melody has no key signature,
simply assume it's C major! Let's try it with this melody by Brahms. Transpose it up a
perfect 5th, as it would be written for horn. (it E‘lrst, label the accidentals, of course!)

R R Riluyg = R
) ' o~ e 7 —r
Original key: C major - D E F 6 A B C
Up perfect 5th: 6 major G A B ¢C D E F* &

Now write the new key signature and transpose the melody. (find, OE course, remember fo add the ‘R’ and
1" labels and adjust, the accidentals.)

.

)

;s T

/ L]

n\‘

s

u\t

—
i

1 ] i
i

a
~/

Occasionally the exam question can be a bit tricky. You're given a melody with a key
signature, and asked to transpose it WITHOUT using a key signature! Just write your table
very carefully, including all sharps/flats in the new scale, and follow it to the letter (ha ha).

This is the cor anglais part from music by Bizet. Write it as it would sound at concert pitch.

R

R

—

®

¥ # [ T
%” —
S ~— .
/

Assume the

fe

kej '|5 maJOr

Original key: A mg‘)g:

A B ¢ D E Fftgita

Down perfect 5th: D_m&"g_

D E

FFG A B cf D

V

Include all the accidentals shown in the table, THEN make the adjustments.

0. - R R R R R R .
R S e Y T LT r
PR R R TR RS

That's it! You're now a transposition expert!

3
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Let's Transpose

-« >

1. These are the actual sounds made by a horn in F. Transpose this to its written pitch, i.e.

up a perfect 5th. Write the new key signature.
Chopin

‘9 ﬁu# D)) i| 1/ J/\ : & B

\\_/-6-. ;:\'/ g ‘J
~ /\
%”’—\. : S rEE £ ;
EmEe =S ——

V

[ 5 d

1T

2. This melody is in written for clarinet in A. Write the melody in concert pitch, i.e. down a
minor 3rd, without a key signature.

Tchaikovsky
ﬁ. e T S S = T SO S
= e e o e E e o D

¢ ——

7 + — rﬂ i ——  E— (ﬁ ra
N2 1—1—1 I M Ad_w_‘_ L ]
AN | ] ] 4 . [N . T
& N p— ] J

3. Here is another melody by Tchaikovsky, written at concert pitch. Rewrite it for clarinet
in B flat, i.e. up a major 2nd. Write the new key signature.

/ [ | 7 Ay P
3 — PO ¥ g lhe ¢ @ )
& : 1) A TVIE & 74 ——
[Y) h - o-h-.—o- —® ‘ 4 L
//;- } | 7 P t
3 I ﬁ ¥ } ] ] 3 | N
4 li__J_J EJJ—“ —1 A3 T S A i s
f-o- — ' ! i —
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A Bit of Revision

< >

1. Write the scale of D# melodic minor:

* use a key signature

* use crotchets

* write one octave ascending and then descending

D § 4 1 |
PR PSP I 1 I ¥ )
i FA 1 1 -_"”—
(5 7 1 Lid
7 ," ﬁr A '
T 7 I

[ -

i
:
il

£

F:

= major A minor Db major c* minor EP minor
submediant leading note subdominant dominant leading note

4. Fill each of these bars with one sound. (Hint: Jou may need to use tied otes in some OE ther!)

QONZ
N
D

rJ
O
_16___1' Fa W)
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Chord II

€ >

In Grade 4 we studied the three primary triads: chords I, IV and V. Now we're going to add
chord II! It's the SUPERTONIC chord, which of course is built on scale degree no. 2.

N.B. We always use Roman numerals when referring to chord numbers. For now, the
numerals are always upper case. In higher grades, you'll learn about lower-case numerals.

Each of these chords is the supertonic triad of its key. Name each key.

(2 P Ll > | (@]
i YO > P4 - I D = 4 b | 1 (@)
il D ) P4 bl PN B 54 by | 1] (@]
oy # el g Tl e [ a0 Wad P a
o = ™ SV P4
v O ' -=-
Key: Eb MUUNLOY G\‘ rvux}cr C* MANOY Bb MALOY C mA(\rﬂT'

Label each chord marked with an asterisk below as I, IT, IV or V. They are all in root
position, so you really only need to look at the bottom note of each chord!

Your hint for identifying the key: the piece ends on the tonic chord.
Welsh ballad tune

* * *
. _ l | | |
i s=———=
SV P ™ P
A A I A I S L

TT-—V—ul)—J
hadf LU/ MY ) ’_‘

==

1

| N
|t:l Bl YA | TR
n
TN
IH_Q QB QL *

Werite chord II in root position in the named keys. Use accidentals. Watch out for clef

changes!
s be D #8'——9 @) S thes 2
) —'R (@) y 4 () \a h‘o (o8]
V4 h—d [ ] [ £an [ @ ) [e ] [1X ]
NV [ ] Li{®]
Q) @
C minor A major 6 major F minor F# minor




First and Second Inversion

<€ >

Up until now we've only dealt with triads in root position, i.e. the root of the chord is the
bottom note, and the 3rd and 5th of the chord sit above it.

L major triaJ, root position 5th
J P
3rd
—

Root

Here's the thing - if we change the order of the notes, we get two different inversions:

( major fr'laé, E’lrsf inversion ( major tf]a(), second Tnversion
3rd
Root el Root
5th 5th
3rd S
First inversion means that the 3rd Second inversion means that the 5th
of the chord is the bottom note of the chord is the bottom note

There are two shortcuts for naming the position of any chord. The first is to use the
letters a (root position), b (first inversion) and ¢ (second inversion) after the Roman
numeral. So, if you are referring to chord IV in second inversion, you can just call it IVc!

The other shortcut is to use figures. Root position is called 3, first inversion is called §’
and second inversion is called §. These figures refer to the intervals above the bass note:

£ 8
— 6+hl €Y .
[ Fan r o 6th I © T o 13N
AN A= D =4 L& [3rd bl
ry) T T 3rd ©O

Root position ( g ) First inversion ( g ) Second inversion ( 2 )

3 ways to name chords! Words Letters Figures
%«Rm Root position a (e.g. Ia) 2 (eg.I3)
%3“ First inversion b (e.g. Ib) ¢ (eg. I8)
ﬁ 5th Second inversion ¢ (eg. Ic) 8 (eg. I5)
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More on Chord Positions

>

<€

The bottom note of ANY chord tells you its position, no matter what order the other notes
are inl Here is the tonic chord of G major, in various positions. Write the letters a, b or ¢

next to each Roman numeral to show the position. (The E’lrst one s done for fou, Jag)

# )
Chord O)fﬁ major consists OE the % i 2 g -
notes 0, B and [ 1n an§ order, [y I
B is the bottom note here, uhich 3 I —
means this chord is in E'lrsf inersion]  \E= = = g
O
~_ T n 1w 1 1 1 1

Let's do that again, this time using figures! These chords are all chord IV of A major.

#
Chord 1V of o o, nd - (FAEEE—2 :
(and sometimes the N m'lgH be missing). D} = C =
2
The bottom note is the one that SR = 2 =
tells gou the position of the chord. — &

i
v vy oy v

U

Here is a chord progression in Bb major, with chord numbers underneath (and the notes OE that
chord written abore, Jost to MP ot a bit). Can you label the position of each chord? You can use letters

OR figures - choose a method and stick to it!

(BDF) (FAC) (EGB) (CEG)
\y"ﬂi 2E== g 2
Q) oJ
y 4 l;. 2 [, ~

Ta Ve Ib IVa ITa Ia Ic Va,

alvays occurs on the dopinant note of the key. More abaut this later!

The positions o)f the last tuo chords in the examyle abose form a reanj important chord progression in music. Chord T in second
inversion EOHOueJ ')J chord U in root position Is OEten reEerreJ to without Roman numerals and is knoun as the 2 g’ progression. It




Identifying Chords

There is a super easy way to identify any chord and its position. All you need to do is draw
a little grid containing the letter names of chords I, II, IV and V (in root position order) in
any particular key. For example, complete this € major grid:

Things to Notice

Key: C major
Ilc E e * There are three columns of letter names
IT|ID F A * Column a shows the root of each chord.
This shous the Pos'lﬁon OE the
chord. It's much easier to call IVIF A ¢ * Column b shows the 3rd of each chord.
the colurans a, b and ¢, rather vi§é § D
har g figwes.' e b |c * Column ¢ shows the 5th of each chord.

So, this grid is going to help us identify the chord number by matching up the letter names,
and the chord position by checking whether the bass note comes from column a, b or c!

Let's identify this chord. The key is D minor, so first we have to write a D minor grid!

Key: D minor
I[(DFA ;Qi. Z
&P —=
IT|E G @ )
IV|G 8D ,
v A ctEe 75
a |b|c

1. List the notes you see in the chord. Ignore repeated notes. _ (& E Bb

2. Which chord number in the grid contains those notes? IT

3. Does the bottom note of the chord come from column a, b, or ¢? b That means this
chord is in root position / / second inversion (circle correct ansuer)

4. So the final answer is: _ILb . Easy! (II6? 0r not II? That IS the question. Ha, Ha ha, Ha ha ha ha.)

HOT TIP: You'll get s5ed to reac}'lng Jour griés qu“ﬁ the more Jou Pract'lse. The rous tell Jou the chords and
M the colurmns tell you the positions! Write oot grids n lots of different keys.
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Let's I.D. Chords

>

In case it's not completely obvious from the title of this page, identify each

chord marked with an asterisk, naming the chord number and its position. Key:
You can choose to use letters or figures to name the position (LOOrHJ). I
To make it easy, complete a chord grid in the key of each new extract 11
below (they are all major keys, hooray again). IV
v
All of the extracts contain the f{ g (Ic - Va) progression we talked about B 1*3‘ |f

earlier. Put a circle around these two chords when you find them!

Traditional

]

I N S N —
|r= f E’“ L : i
Ta(Ic Vo)
Traditional
* * * * * * *
04 | | % f I I — r___l A|
(o & 2 ——— 5 -5 . .
— | T
ay | . * f =
[ [S— — JI— !
M Lk D (W D Va
Rowlands

>*
*
*

.

Y
| T
[ Y
| T

IH TTRQ TO[RL *

\
\
i
{
f

i
TN \a |
Q. TORLL #

,__:.f_..
gl
et

5
=
Y

O QL

\J
Y
« 2%

N

1

RIS

E R
>
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SATB: Vocal Ranges

The letters SATB stand for the four voices in a choir - soprano, alto, tenor and bass.

The highest voice is called SOPRANO

} P — ﬂ\ese are “5"3“J Eemale v0ices
The second-highest voice is called ALTO

The second-lowest voice is called TENOR

<«  Theear usuang male voiges
The lowest voice is called BASS

Here are the typical ranges used in vocal music:

= ' o
©
p— -©-
TenOr D bass ) — —
O

In real life many singers can reach notes well outside these ranges! However, you can be
sure that if you stick to these ranges when writing for voice you won't put anyone outside
their comfort zone.

Sing some songs with your teacher. Which vocal range is best for you? A\/{O

"‘&{E 50prano Male voices vith a range in betueen tenor and bass are called baritone . Interesting, hoh?

Saint-Saéns

Voice: ONO
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Short Test

F major. Label the chords

1. This music adapted from o L _® ]
y 4’ - | - T —1— I
Schubert is in the key of P ? Té 1 : |
d

}-554“3 [\

marked with an asterisk. Q—n—é——al—hé GJ 1 ‘A
s e =i
N ' ' N R
Lo Vo b (T
2. Now rewrite the soprano T f i
(top) part up a minor 3rd. S E— o =

d

3. What is the name for the vocal range between soprano and alto? _M¢€220 ~Sopranp

4. What is the name for the vocal range between tenor and bass? baritone

5. Study this excerpt by Dvordk and answer the questions below.

Lento ' = 112
T o N
P™ AN + 2V F o 1 o
gl O N | i N
('R *
NV O
()
mp molto espressivo
2
(o e T .
p S S S == .
b [ Lt ++ [F st v v |
D= — — ] ] I ! '@ I g 7 1
) ‘ ————— ' i ’
Jp — —_— mf —

a) What does lento mean? SLow  What does D= 112 refer t0? |12 quaver budrs per
minube '

b) There is an irregular time division in this melody. Find it and write the correct

number underneath.

¢) Name two ornaments in this extract. accioccatura / Lower MUTM
(bar 1) ' (bar 3)

d) Look ahead to the instrument ranges on pages 47-51. Name three instruments that

could play this piece: _vViodin ; -ﬂwte , choe

Auesome uOrH
RESULT: BLITZED IT / PASSED / TRY AGAIN (circle correct ansuer)




Another Short Test (4w

- >

As usual, answer questions about this music.

m

\ < ' \‘/"

3 14
0 N N K4 kN N 2 N
r 2 Y 3 2 Y 3
P Py T &
\ € €

S EE == = e
: : B

1. Which two instruments is this music mostly likely written for? \/‘bL&- and piano.

molto rall.

(Y

2
B G
E=
M
L))
e

g
"M

2. Ignoring the ornaments, rewrite the solo part from the beginning until the end of bar 2
in the treble clef, sounding one octave higher. Write the key signature.

g@;ﬁﬂ o

- I
3. They key is & minor. Bar 1 of the piano part consists of chord I. Which inversion is
played in the right hand? S&COQM)( ( Tc

4. Working from your answer fo question 2 above, transpose it down a major 2nd, as it
would sound if played by a clarinet in B flat. Write the new key signature.

| | L = —y ~~[—
J l 1
5. Find and circle the 5 e o o s e s S e

22 (Ic - Va) chord

progression in this . £ 2 | Iy
traditional music. = =R ———

RESULT: BLITZED IT / PASSED / TRY AGAIN (cicle correct ansuer)
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Cadences

- >

A cadence consists of two chords that finish off a musical phrase. On the next page we'll
be talking about cadences in melodies. In Grade 5 we study three types of cadence. Here's

an example of each, in C major:

The perfect cadence consists of chords

V-1I. Itis like a musical full stop. A LOT of

pieces end with a perfect cadencel!

o/

PERFECT Jp
CADENCE _d
N = [Q

A%

—

— TR T

; The imperfect cadence consists of any chord

IMPERFECT % leading to chord V. Since chord V sounds very

CADENCE

unfinished, the imperfect cadence is like a

question mark in music. (II-V shoun here, bt I-V and TV-V

.
I are also 'ImperEect cadences))
s

The plagal cadence consists of chords IV - I. It

PLAGAL %WQ*F— is very common to hear this at the end of a hymn

d (the ‘amen’ bit), after the perfect cadence. Think

of a plagal cadence as a few words in brackets

Complete this table:

after you've made your final point.

NAME OF CADENCE | CHORDS USED DESCRIBE IN PUNCTUATION TERMS
Pecfeck V-I A full stop.
Imperfect ]I—V) I-V,Iv-V A GLVL%JWO’* macrk .
P(,aqaL Iv-1 An extra comment after final point

=

A

ﬂ DID YOU KNOW ﬂ\ere is a Eourﬂv fj\)e OE cadence, CGHGJ an ('lnferrll?ted caJence). It consists OE c‘vords V—UI -

This cadence is ke a mosical semicolon! You'll be Jearning more about this cadence in '\ig'»er 3raées.




More About Cadences

- >

Can you identify the perfect, plagal and imperfect cadences in this music by Purcell? The
key is.... well, you can work out the key. (0o back to page 38 to check aut uhich chords make up uhich cadences)

[ 1 | | [ |
4 ¢ | |
bl ~ | I %
hal A (@)
O "4 = p 8 o
[} e - & < o ©
DERZ I | EEEE———
P dhia i £ ] o) © # | =
> W) { al { | 7 (@]

[
| I

Cadence X: mf\gafgot Cadence Y: gigwt Cadence Z:_ﬂ%g&

Good work! In your exam it's a little different... rather than actually naming or identifying

cadences, you have to choose which chords will sound best under certain melody notes. For

example, you'll get a melody with sets of bracketed notes, like this:

s

Q
%@O

<

QQSSJD

Y I

Step 1: Identify the key of the melody (C, G, F, or D major): C N\ajcf
Step 2: On some spare paper, write a chord grid in that key.

Step 3: Find the chord that contains the majority of the notes under each bracket -
it will always be either I, IT, IV or V.

Once you've decided on which chords will fit, write I, IT, IV or V in the boxes underneath
the stave. (Make sure Jou OnLy us¢ one chord per box!)
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Good work! Now you can use exactly the same strategy to work out the best chords in the
following melodies.

79'h2 —

— e —

1

v v

i

i

ef

{-1 ) HERE'S A THOUGHT... In a group of three chords, the first of the three chords
L/ is called the approach chord and the next two chords form the actual cadence.

Sometimes more than one chord will suit the note or notes under each bracket. You have to
make a decision which is best, and this is where your knowledge of cadences really kicks in!

* Remember there is no such thing as a cadence that ends on IT or IV.

* If you have a choice between chords IT and IV, it's a safe choice to go with chord IV.
Remember there is no such cadence as IT - TI!

.

N
i d

’“\

QQSND
s va wd

o)

/,4‘/

eéi%#
ri
3




Practice Makes Perfect (i i phgl e b

€ >

For each of these, identify the key and use chord grids to help you decide on the chords.

/53 e |
o+ o e
0y, -
| | ] | |
i I vV
/5 :
i P >
g s = a -
| |
\% I
Iy 5
e | | L= |
v T vV
xS —
(> = s—= ;
[Y) 4
| | |
IV T
/R = r
6 c e e
o a— =
L J | [ | | ] |
\Y I 1L V 1
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Ornaments

€ >

In Grade 4 you had to recognise and name ornaments. In Grade 5 you also need the skill of
replacing the actual sound with the correct ornament!

Actoal Sound Replace Jith Name Ojf Ornament

Upper mordent (no ertical line) /

Lower mordent (iith vertical "lnEJ

Trill (or 'shake’)

Acciaccatura or ‘crushed note’

(ittle line tho‘g‘w tail)

Appoggiatura or ‘'leaning note’

(no line ﬂerUS‘u tail)

Turn (betueen notes)

o=

e % Turn
==
b

’)\Q = Arpeggiation (or ‘fanning' of the
'\o)9 o \_% notes)
N~————
Other things to know: & "
e = H = W
* Ornaments may have accidentals, e.g. or #ﬁﬂ{c\y F———
¥ PP = g =

* When you draw a turn, think of it as a backwards 'S’ lying on its side!

* Two or more grace notes look like this: ﬁ They can be played as acciaccaturas

(crushed notes) or appoggiaturas (leaning notes), depending on the style of music!
42



Repetitions and Repeats

S >

Composers use shortcuts when notes, bars, phrases and sections of music are repeated. You
already know quite a few of these, like the repeat dots at a double bar, 'D.C. al fine', the
'dal segno’ sign (:§°), that sort of thing. But here are a few you may not have seen before!

Written Played Written Played

— | | E=EEEE

= ESSS= == |

=5 ES= === |

S| A

There are even repeat signs for whole bars of music:

A )
Y | N | |

= ': | i) | ; ~,I. i
i - ~— I ]
Repeat the previous bar
D % | ) I T ]
o) ok ok I f 1 v I - |
e 4 !

Repeat the previous two bars

Let's test your skills. Check out this music by Wagner:

. . . . M
= = = = H‘ y ' T ¥ | [ T T T
P A L 3| | 1 | [T N NS | 1 Il | I I P P | | ] A N N Il |
g\ HO & - | == ] | | r Y 2 Top 1 n ' N @ Y J Ol |
[ £ an Wl / | 1 & r N o Mgl ik 17 7 & & Ol |
})V L 3 I I Al %! ¢ 1" b o o %- s 1 |

* Write a sign here that could replace all the notes in bar 2. —F—
Tt TrrrT
* Write bar 1 as it would sound: = e

i3

* True or false: This entire melody is to be repeated. True
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Quick Quiz

>
Andante religioso
- Massenet
gﬁ’ T == £ e ——wereaet
SY— i 1 — f =
[y, e ' 5 ~ 1
4l T NP E
- I /) | | L7 D)
hll NV 3 s = L4 o = [ g
y AW / - e b L 4
hils 3 P
PO O
I e
; e —
1. Add an ornament to make this bar sound the same as bar 3. {gy— =
—

2. Draw a sign in bar 2 of the bass stave to show that it is a repeat of bar 1.

3. How many demisemiquavers is the quintuplet in bar 3 worth? _%_

4. What does 'andante religioso' mean? af o met.\'M oace in a cloqious manner
(§ ) ! \J
( Relig'mso is not on Jour list °Jf ferms, bot Jou could hae a 5O°J pretty gOOJ 306591

5. Rewrite the treble melody one octave lower, using the alto clef.

/pp#,—-\\

¢l o
Ve Y " NI/ 7 — 7
e FerrH e I oda— !
o - —1—® 13 I 74 i »
e —— l/‘af | i s +

New Zealand
6. What is the currency of New Zealand? __dolax_ {not essential (rade 0 knouledge)

7. Rewrite the following music by Scarlatti with correct grouping/beaming of notes and
rests (it’s been a uhile since QYOU)ve been tested on f'w'ls, lucl&j cYOU).




Terms

Notice how this page is not called Italian Terms? That's because there are some GERMAN
terms to learn in Grade 5 as well as Italian! (L"CI‘J Jou) Remember, you need to know these in

addition to all the terms you learned in Grades 1-4. Find them all at www.blitzbooks.com,

and you can also check out How to Blitz! Musical Knowledge.

[talian

attacca =

dolente -

dolore, doloroso
doppio movimento -
estinto -
incalzando -
lacrimoso -
loco -

lunga -

lusingando -
misura =
ossia -
piacevole -
piangevole -
pochettino (poch.)
rinforzando (rf, rfz) -

smorzando (smorz.) -

teneramente

tenerezza -
tosto =

volante -

go on at once
mournful, sad
grief, sorrowful
twice as fast
lifeless

getting quicker
sad

at normal pitch

long (e.g. for a
pause)

in a persuasive style
measure

or, alternative
pleasant

plaintive

rather little
reinforced sound
dying away (volume
and tempo)
tenderly
tenderness

swift

flying (fast)

aber

bewegt

breit
ein
einfach
etwas
Jfrohlich
immer
langsam
lebhafi
mdssig
mit Ausdruck
nicht
ohne
ruhig
schnell
sehr
SUSS
traurig
und
voll
wenig
wieder
zart

zu

German ‘(

but

with quick movement,
agitated

broad

one

simple

somewhat

cheerful, joyful
always

slow

lively

at a moderate speed
with expression

not

without

at a moderate speed
fast

very

sweet

sad

and

full

little

again

tender, delicate

too

45



Tiny Test

< >

1. Translate these German instructions:

mit Ausdruck aber nicht zu schnell WDJCL\/ 6)(\:7“«580% blﬂt not too -FA,S{;‘

langsam und immer sehr ruhig SLO'DO a.ILOL @Lwa,jj ver j calm

2. Here is some music by Chopin, followed by (wrpr'lSE, SUrPr'lsF.) some exercises relating fo it:

e e N e

e — } |
=Fr 7% hﬁ G

5 |

P teneramente

| A l A |

4' & : Vol gt
2 v s o5
%ed. A |

* What key is it in? The last note is the mediant. F# ﬂ\AdOT

* What does 'rfz’ stand for and what does it mean? n',r\foﬂ and.o *rellr\«forcco( 5owwL

* What does 'teneramente' mean? tmola [:j
* The quintuplet in bar 3 is the written form of which ornament? tun

* Add an ornament to this chord which would make it M@
sound the same as the circled notes in bars 3-4. > l

* Add a sign to show that the last chord in the left hand should be arpeggiated.
* Add an Italian term fo show that the last treble note should be played at normal pitch.

3. Fill in this table with matching terms in each of three languages (i, Jou)re moltihngual noul):

FRENCH GERMAN ITALIAN
cédez Lo.,\,qsagm,er ritardando
Lent langsam Lenko
motns wenqer meno

mod Zré ruhig moderato
trés sehr molto




The String Family

Instrument

Approximate
Range

Common Terms and
Signs

Interesting Facts About
Strings

con sordino: play with
mute

sul ponticello: play on
or near the bridge
v

r up bow

M

r down bow
arco: with the bow

pizzicato: pluck the
strings

sul G: play on the 6
string

double-stopping:
playing two or more
notes at once

* The bow is drawn
across the strings to
make them vibrate and
produce sound

* Double bass music is
written an octave higher
than it sounds

* The full name for cello
is actually 'violoncello'

* A slur over the notes
indicates to play in one
bow

* The open strings of
the violin, viola and cello
are all a 5th apart

* The open strings of
a double bass are a 4th
apart

i) down bow

ii) lower mordent

iv) a direction to pluck the strings

iii) up bow

v) a direction to play with the bow
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The Woodwind Family

Instrument Approximate | Common Terms | Interesting Facts About
Written Range and Signs Woodwinds
P° g * Air is blown across or
Iccolo o : :
0 —— . |into the mouthpiece or reed
A 7 Flutter tonguing _
= to make the column of air

Bass (larin o :

2

S

v

dl

)
(breath mark)

vibrate.

* The piccolo sounds an
octave higher than written.

* Flute and piccolo are the
only non-reed instruments.

* The oboe, cor anglais and
bassoon are double-reed
instruments.

* The clarinet is a single-
reed instrument.

* The bass clarinet sounds
one octave lower than the
B|7 clarinet.

* All clarinets are notated
within the same written
range, and all in treble clef.

* The bassoon and
contrabassoon often use
tenor clef.

* The contrabassoon
sounds one octave lower
than written.

* The saxophone is another
single-reed woodwind
instrument but is not usually
in an orchestra.




The Brass Family

€
Instrument Approximate | Interesting Facts About Brass | Common Terms
Written Range and Signs
-’» * The brass section use mutes, |con sordino: play
rUmPet A e but they are very different to  |[with mute
({9 ,// string mutes. They are conical 1 (forte-piano):
g — : : :
o objects that are inserted into loud then
the bell of the instrument. immediately
* The horn is the only brass soft
instrument included in a wind
quintet (along with flute, oboe,
f = .
. 0, clarinet and bassoon).
r—
) * The horn, trombone and tuba
are also known as the French
horn, tenor trombone and bass
tuba.
Tiba
n =
oo e
ANS"4
o () >
8

1 2 3 4
9 b  N— - T > T 4‘({ i S - X  —
"L‘U'\r{r?' o — i m’—“—b‘_# i N—7 o
%&i 4 . — —r 1 I —
* 1 T — * . . o .
senza sordino
6 7 8
.- =
QIIT) I ; | . j‘? - | ]&——|
>—P p e i T o # o @® | —7—
| Il I | | ) T ]
Y l l l l h—b‘- | T [ | > T 'J'

* What does senza sordino mean? lDL&\lj{ W'ba\,otdb mute

* Bar 5 is a repeat of bar 1. Write it as it will sound.
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The Percussion Family

UNPITCHED PERCUSSION

Instrument

Common Terms and Signs

Interesting Facts About Percussion

[ym‘)als

&y

Jide drom @

bass Jrum

Roll (like a trill)

J (unpitched notehead)

* Most percussion instruments are
struck with sticks or mallets (or
against each other, as with cymbals).

* Other unpitched percussion
instruments also found in the
orchestra include castanets and bongo
drums.

PITCHED PERCUSSION

Instrument

Common Terms and Signs

Interesting Facts About Percussion

o &

T]mPan]

Roll (like a trill)

L

XJ]OPLone s

i
?ﬂ!)llununnmm.,i

* Other pitched percussion
instruments also found in the
orchestra include tubular bells and
chime bars.




The Keyboard Family

Instrument

Common Terms and
Signs

Interesting Facts About Keyboard
Instruments

una corda (u.c.) (‘one
string’): depress the
soft pedal

tre corde (1.c.) (‘three
strings’): release
the soft pedal

m.s/m.d: ‘left
hand'/'right hand'
(Italian)

m.g/m.d: 'left
hand'/'right hand'
(French)

* The first pianos were made in Italy
in the early 1700s. Using hammers

to strike the strings, they gave
performers close control over a wide
range of dynamics. Upright pianos came
along around 100 years later.

* Modern pianos usually have 88
keys, giving just over seven octaves.
Most have at least two pedals - a
'soft’ pedal and a 'sustain’ pedal -
and some might have a 'sostenuto’
pedal, which allows the performer to
choose which notes to sustain, or a
very quiet 'practice’ pedal.

Hélrpa§

[elesta

*Harp is not really a keyboard instrument but it has a range similar to piano. It is an

orchestral instrument most often associated with the strings section.

Here is some piano music by Moszkowski that features many of the signs listed above.

Discuss each one of these with your teacher!

N

N
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Crossword

€ >

Wow, you have certainly learned a lot in this book, especially in the last few pages! It's time
to put your knowledge to the test (fut not 2 ver{ seriovs test). Complete the crossword below by
solving the 'across’' and 'down’ clues. Have fun!

o]
=

REICIES

z
R [l [ (5

-

N
L
=

Hﬂﬂﬂﬁaﬂﬁgﬁ
C

\[Z [0 | 2 [0 |~ |48

<
™
=

o] [z oA~ o [F< [
&
© N
Hﬂﬂﬂzaﬂﬂﬂﬁ
o

) |
N
0]
nn
Ei
0
n
]
D

m
" &l
|

ACFOSS

1.  Term for bowing two strings at once double Sﬁoppmj
9.  Piccolo music sounds this much higher than written octave
11. Clef often used by cello and bassoon tenor

13. G#is the _enhasrmonic equivalent of Ab

14. Music for B flat instruments must be transposed Wp a tone 2,1,4)

17. TItalian term for 'alternative part' ossca
19. Word that applies both to volume in music and properties in physics A,JMLM(LJ



20.
28,
26.
28.
29.
30.
33.
35.
36.
37.
38.

Interval spanning more than an octave COMFOM\A

The strings of a bow are actually made of these, from a horse's tail hasrs
Highest female voice Soprano

Name of 'The Magic Dragon’ P\AH

G, D, A and E are the QPen strings on a violin.

Number and type of this interval: % Mjmu\keo\a third
Something no teenager can do without Pkone

Family of instruments to which the celesta belongs ke, board

Unlike the rest of the string family, the double bass is tuned in :Egur'ths
Very low bassoon contrabassoon

German term for 'little’ we,mj

G, D, A and E are the Qﬁﬂ string tunings of the violin
English meaning of 'breit’ brmu(
You must do this to written music for clarinet otherwise it will sound wrong with piano -l:ra_njf)osc

Non-transposing instruments sound at concert F’M

In Grade 5 you need to know Italian, French and G'gmeTerms

Type of this 6th: % Mado-r

Italian term for 'go straight on' Segue

Alto clef and tenor clef are both also known asa _C CLQE

Brass instrument that sometimes uses tenor clef ‘tmmionc

The clarinet in A sounds this much lower than written muinor -{7[:\,\11(

Male voice in between bass and tenor L@r\':l;vnc

Relative of the oboe Cor lass

Type of scale with a raised 6th and 7th ascending melodic monol

Time signatures with 5, 7 or 8 as the top number are known as this (,rrejulxu‘
These are used to raise the leading notes in G# and D# minor double Serps
Scale degree no. 2 Sufefkomlc

2 chords are in this inversion second

Key with six flats (et natter shether yo gik ogjor o v Gr £ lake rvut]or / E flat minor
German term for 'at a moderate speed'’ Mssij

Lower type of soprano voice/Italian for ‘'medium’ mezzo *

Italian abbreviation for 'held back' ¢chben
53
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Use Your Skills

<&

It's time to answer more questions about lots of different excerpts of music. Have fun!

Fauré

N e % .
o R S w— i — ] \ < ) %] < Y < S i n—
(2?7 - i 7 — | 17— 77— — 71— 7 oy i
\.j/ = na— ] Y | Y 14 14 14 = na— |

{ E i \ . cresc.
0 ) ? i ) )
%{2;:4 < < < < Do\ 1) /< A —D — qL C; <
7 7 D E— 7 A . A A | y— 7 7 7
P 74 f A4 ! i 7
|4 - 4

* Insert the missing time signature.

* Name and explain the squiggly line on the first chord of the piano part:
A(Pejgmcn o ﬁwuw\,j of the notes
* Why is the solo part in a different key from the piano part? lh& Solo pact (S
wntbena pm' a —krau\slpvsmj i strument

* The key is Eb majonz. Name the chord number and inversion of the circled chord in
bar9: __Tc [T§

* Give the English meaning of the following terms:

rf rdf\fcr zando —ceinforced sound
volante .CLWAG (‘-C(LS{A
) J J ~ 3 4

Tosto ‘Sw\‘,'pc




Beethoven

9 10
o
o ot | = ] > y > .ﬁ
==
* Name the ornament in bar 4: padqg (\MM&
] Ji ’ e

* Rewrite bar 2, replacing the first two notes with an ornament:
D)

* Insert the time signature.

0
* Bar 7 should sound like this: ‘LJ—:E—J@_ Add the missing ornament above.

. . /
* What is the value of the last note of bar 1? 4 damd sewd ?(MO\A/@J’ Gﬁ da o bw)

- Ha
* Fully describe the interval marked X: _ ML AGY 6

* Put a bracket over four consecutive notes that form a chromatic scale.

Frtigy g
s & o . = . |u
gliij 3

* Explain the signs 11 [EX L= P'a‘j Fl‘lS‘k tive 2. ?i@:j second. Eime

J—DP po’o Mw.‘(mi\5| 1. Ii2. Bartok
. . | | ]
1] 1 1

* For how many beats will the last chord sound? z
* How many different types of repeat signs are in this extract? 2

* Name two instruments that could play this music: 'Pf‘MD . hasrpm cherd . CO@M]

* Add an Italian term to show that the second bar should be played twice as fast.

* Rewrite the last chord of the right hand in the fenor clef:
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Andante, quasi allegretto

I #
D
&

| &> A | b
$): b, be - g i
oy v 5
Eamnin = = 3 & ;
I’d Hr- | Uf: N

* Name two keys that share the key signature of this piece: Gb major, Eb MmN Or

* How many double flats are in this excerpt? 2

* Explain the fempo marking: ak o wauUcmg 'pace'neulj -Cawr\lj q{mck

* Explain 'm.d.’' (bar 2): __mono destra 'jl)La.j woth n‘:cjlkt hand

* Explain how the last five semiquavers in bar 3 are to be played: _m¢zzo - S{Tuca:(:v,

__Fkgﬁ modl,r&b&bu short and debached

* Rewrite the circled chord in bar 4 enharmonically, without accidentals:

D

ffi

* True or false: Hermione Granger's parents were dentists. _iCue
* There is a change of time signature in bar 6. Insert the correct one.

* Insert the missing rest/s at the place marked with an asterisk in bar 6.
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accompaniment. Name the solo instrument:

1
0) 73 73 ¥ ¥ ¥ —
7 571 P P & < P —
b1 ¢ ¢ ¢ ¢ JE—
— =l = - j. [ 4
— .‘. . . 5
& X >

=37
3

This music is written for a solo transposing woodwind instrument with piano

clacinet n A

Which bars contain irregular subdivisions?

How many bars feature demisemiquavers? 3

2 W

How many semiquavers is the circled note in bar 6 worth? __/

— T

]
/A
-

Fan WA/

A

- |

Rewrite bar 4 (solo part) at concert pitch:

-

1

\V

not too gask

Explain the tempo marking:

i

r
d ..l t'.

% o

How many fimes does the tonic chord fea‘rur'e in the piano par"r? (It'sma major lxeg) 2
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Test Paper... Sort Of

All theory books end with a test paper, but this one is DIFFERENT. It already has the
answers in it (mosflj urong ansuers!) and your job is to be the teacher - you have to mark it.

When you've found all the mistakes, go to www.blitzbooks.com and download the EXACT
SAME PAPER - this time with no answers already in it. See if you can get 100%!

1 8.8 8.8 8 & 4
Theory Paper Grade 5 TOTALMARKS
Time allowed: 2 hours

1 a) The following extract begins on the first beat of the bar. Put in the missing

bar-lines.
e / S e aEaa
) ; g g Frrfrers
—§V—4 . L—rﬁ FW {/) i L.J i Il_‘ T ete.
3 3 3 3 (3)

b) Look at the following extract by Albéniz and then answer the questions below.

=
E 3 . N
W . - . W \
L . = I O
m . . 1{ ® =D 07
| I . { - |l ‘I/ N

|
e E— I

I-_ﬁhll nlql—q}‘\’_’

ol o @-® oo T els - =
r\_/r | Y ? %o @ -r- }'\_/

i) Describe the chords marked and as I, I, IV or V. Also indicate whether the
lowest note of the chord is the root (a), 3rd (b) or 5th (c¢). The key is E major.

Chord A ....... I_& ..... Vo @)

</ T (bl o | P JYTA \"5
| oo \ WIOO KW UL UNANGC O A4 g
Chord B ........ 5(1 2 AN ; L 4 @

cofssciecssesssssssses



ii) Insert the correct time signature. )

iii) Name two keys that share the key signature of this extract

Eoma) L and . Somino CF mino @

( F A

4 Tcuwe ( '
iv) True or false: the last bar contains the sound of a G natural. False.. (1) Sk

v) Rewrite the first chord of the left-hand (bass) part in the tenor clef at the

same pitch. Remember to write the key signature. ?3)

2 Describe fully (e.g. major 2nd) each of these melodic intervals.

O
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3 The following melody is written for clarinet in B flat. Transpose it down

a major 2nd, as will sound at concert pitch. Do not use a key signature,

but add all necessary accidentals.
Leoncavallo
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e RS
e .H; N

59



60

4

Study this music by Schumann and answer the questions that follow. 30 1q

!
Mit Ausdruck 3 3
e s —--——,——
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i) This music is written for one stringed instrument and one keyboard instrument. )
] e . e
Name the two most likely. .....Lian0..%......... and ........ vaolen o
— '\._
i)  Name thre@ffientjjomaments in this piece, stating the bar in which each occurs. (6)
— Y u,{?v{? e
. = . / \
Ornament ... X\, Ornament ..... ‘h"\l\\ .......... Ornament .71.m.9(f'.i.?: 0
Bar ... %/ Bar..9..5 " :‘ Bar...1...\




iii)

vi)

vii)

viii)

Rewrite the circled chord in bar 3 so that it sounds at the same pitch, but using the tenor (4
C clef. Remember to write the clef and the key signature.

© H—be
© —a—
}/C’kx.f' f{',v\:\;,“ \i'(r
A 4 { ~F
Ly nov CLEA( "
Explain the ®ed.____ | sign under bar 5. frd = ?.9*.,..5.‘?..M.S.@....Ej.?.‘.’r(.... oot /.. @)
‘D 1 a 1 i) { if ; | { | .ri . p
Pta;.k LS §*=;/;‘\a.*v - : $S down dhe Sustan l;“t:& al ani Wit b ug,f’ axX

e end o© [ e WLne.
Describe the chords marked X and Y in bar 4 as I, II, IV or V in the key of F major. Q)
Also indicate whether the lowest note of the chord is the root (a), 3rd (b) or 5th (¢).

Give the English meaning of: ®

Give the name of the voice part that lies between soprano and alto in vocal range. )

Sopr“\‘\’07\ ..... MLLZ0730PpAN0

Underline one instrument below that is a member of the orchestral brass family. &)
oboe french horn’ tambourine celesta

Name two instruments from the woodwind family that use bass clef. @
............ Rassaon...and . bass.  acinek v
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5 a)  Write the key signature of five sharps and then one octave descending
of the melodic minor scale with that key signature.
Shouwld e L(}'! melodic minor
oo NP N N
I\ ! & \ 4] 1 DO —~
1 N 7D e [ 45 ~
™ v :1!%, A" ) c 6 (@) =
- ol
b)  Place accidentals in front of any necessary notes in order to form a G’ chromatic
scale. Do not use a key signature.
[ fan) I i >
A4 |

i




6 Look at the extract and then answer the questions below.

f

. X Y

Gigue i e
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e e e S A S e
a) Tick one box. )
182 signifies:

compound quadruple Q/x//
simple quadruple []
compound triple []
simple triple ]

b) (i)  Give the technical name (e.g. tonic, dominant) of the note marked X.

Remember that the key is Eb major.

(ii))  Write as a breve (double whole-note) an enharmonic equivalent of the
note marked Y. / !
s v— i
V4
(iii) Rewrite bar 1 in simple time but without changing the rhythmic effect.
Remember to put in the key signature and the new time signature.
3 3
. A 1 TN
":x \ﬁ l':‘r ‘ » ll" !l‘-l‘u{fm
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(C))
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c) (i)  Answer TRUE or FALSE to the following statement:

The cello is a transposing 1nstrumentFA\'SEJ ........ @)

(i)  The cello is a member of the string family of orchestral instruments.
Name a standard orchestral instrument from a different family that could
play this extract so that it sounds at the same pitch, and state the family of

instruments to which it belongs.

k:‘,v/ . y O L e i A
Instrument ¢-35097\ Family ......... reed X woodwind @)

|

Suggest chord progressions for two cadences in the following melody by

writing I, II, IV or V in the boxes underneath the stave.

Use one chord per box.
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A . ===
0y  — —
L J L
Y| I |V
—fz » e o £
— ——— i —— !
fos—1T—® o — i S
\i)y | |_7 1 E
| | L ] L |
oL 5'A 1|7

Hou did Yoo do ”a'l"'"ﬂ this Paf’e'? Did Jou Eind lots of mistakes? Now g0 to i blitzbooks.com and
5 dounload the uncompleted version. Oood luck!
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